2 rote Wiirfel

Die ewige Kalte

3 rote Wiirfel

%

%

Ergebnis| . /o v :
einzeln | summiert

2 8,33 8,33 100

3 11,11 19,44 91,67
4 19,44 38,89 77,78
5 22,22 61,11 58,33
6 30,56 91,67 36,11
8 2,78 94,44 8,33

10 2,78 97,22 5,56
12 2,78 100 2,78
19 100

5,06

Ergebnis einzeln | summiert
2 1,39 1,39 100
3 4,63 6,02 98,61
4 13,89 19,91 93,98
5 19,44 39,35 80,09
6 37,96 77,31 60,65
8 6,94 84,26 | 22,69
9 0,46 84,72 15,74
10 6,94 91,67 15,28
12 7,41 99,07 8,33
15 0,46 99,54 0,93
18 0,46 100 0,46
0 100
6,31

2 schwarzer Wiirfel

Ergebnis % %
g einzeln | summiert

8 11,11 11,11 100

10 33,33 44,44 88,89
12 38,89 83,33 52,78
16 2,78 86,11 16,67
20 11,11 97,22 13,89
24 2,78 100 2,78
0 100

12,22




